ECE 6340 

Fall 1998 

Class Project

INSTRUCTIONS: This project is due at 12:00 noon on Tuesday, Dec. 15. Please show all of your work and write neatly (you will be graded on the thoroughness and neatness of your write-up, and your results).

A unit-strength electric dipole is located at z = 0  inside a rectangular waveguide, of dimensions (a ( b). The dipole current is represented as 
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1. Derive carefully a complete expression for the fields inside the waveguide, in the region  z > 0. 

2. Assume a vertical (y-directed) dipole located at the center of the waveguide. Make a plot of the field 
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 (along the centerline of the waveguide) versus 
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, for a waveguide having dimensions a = 2.29 cm, b = 1.02 cm, at a frequency of  f = 10 GHz. Plot for 
[image: image4.wmf]0

5

0

<

<

z

/

l

. 

x





y





a





b








_974263347

_974263419

_974264263

_974262758

